C:# Stellenwert untersuchen Name:

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
1) Which choice has adigit in the zehnern 2) Which choice has adigit in the billions place

place that is exactly twice the value of the that is exactly twice the value of the digit in the 1

digit in the einern place? millions place?

A. 765 A. 186.752 2.

B. 742 B. 533.627

C. 715 C. 125.987 3.

D. 675 D. 317.495

4,

3) Which choice hasadigit intheeinern place  4) Which choice has a digit in the millions place

that is exactly twice the value of the digit in that is exactly three times the value of the digit >

the billions place? in the tausenden place?

A. 4.498 A. 4.518.369 6.

B. 6.297 B. 6.139.254

C. 3.765 C.5.723.681 7.

D. 3.976 D. 3.648.721

8.

5) Which choice hasadigit inthe billionsplace 6) Which choice hasadigit in the millions place 9

that is exactly three times the value of the that is exactly three times the value of the digit '

digit in the einern place? in the zehnern place?

A.5.234 A.91.338 10.

B. 4.662 B. 46.328

C.2.751 C.20.814

D. 9.356 D. 28.635

7) Which choice has adigitintheeinernplace 8) Which choice has adigit in the billions place

that is exactly four times the value of the that is exactly four times the value of the digit
digit in the billions place? in the ten millions place?

A. 937 A.9.514.872

B. 359 B. 2.752.884

C. 563 C. 3.874.621

D. 154 D. 2.845.719

9) Which choice hasadigit in theten millions 10) Which choice has adigit in the einern place that

place that is exactly five times the value of isexactly six times the value of the digit in the
the digit in the millions place? hunderten place?

A.7.549.216 A.8.751

B. 1.632.785 B.1.176

C.5.314.259 C.9.137

D. 8.216.379 D. 6.197
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Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten

1) Which choice hasadigit in the zehnern 2) Which choice has adigit in the billions place B

place that is exactly twice the value of the that is exactly twice the value of the digit in the 1

digit in the einern place? millions place?

A.765 A. 186.752 2 _ B

B. 742 B. 533.627

C. 715 C. 125.987 3. _ A

D. 675 D. 317.495

s, B

3) Which choice hasadigit intheeinern place  4) Which choice has a digit in the millions place c B

that is exactly twice the value of the digit in that is exactly three times the value of the digit '

the billions place? in the tausenden place?

A. 4.498 A. 4.518.369 6. A

B. 6.297 B. 6.139.254

C.3.765 C.5.723.681 7. _D

D. 3.976 D. 3.648.721

g. B

5) Which choice hasadigit inthe billionsplace 6) Which choice hasadigit in the millions place 9 C

that is exactly three times the value of the that is exactly three times the value of the digit '

digit in the einern place? in the zehnern place?

A.5.234 A.91.338 0. B

B. 4.662 B. 46.328

C. 2751 C. 29.814

D. 9.356 D. 28.635

7) Which choice has adigitintheeinernplace 8) Which choice has adigit in the billions place

that is exactly four times the value of the that is exactly four times the value of the digit
digit in the billions place? in the ten millions place?

A. 937 A.9.514.872

B. 359 B. 2.752.884

C. 563 C. 3.874.621

D. 154 D. 2.845.719

9) Which choice hasadigit in theten millions 10) Which choice has adigit in the einern place that

place that is exactly five times the value of isexactly six times the value of the digit in the
the digit in the millions place? hunderten place?

A.7.549.216 A.8.751

B. 1.632.785 B.1.176

C.5.314.259 C.9.137

D. 8.216.379 D. 6.197
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